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1. A fair die is rolled 14 times. Let X be the

number of faces that appear exactly twice.
Which of the following expressions appear

in the caleulation of Var(X) K==L ¢! ‘IB
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¢ more than one of the above

Independent

d none of the above

Not 14*13, but 6*5
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1. The population of a small town is 1000 with
50% democrats. We wish to know what
is a more accurate assesment of the % of
democrats in the town, to randomly sample
with or without replacement? The sample
size 1s 10.

N a with replacement

b S :
y -4 @\mthout replacement

c same accuracy with or without replace-
ment

d not enough info to answer the question

Eqloateid ¥ estmate s T deworrats T -low (o)
x = '-B-C)P\A'b('a.\-\ o Yo sav\()E ‘* . l)am’\ .
X=§T '\'T » Lo 2= ?oeuh S et
o (k)2 w (46 (89)

So Quiw 1




@ Sec 3.4 Geomelr!c &%S\h‘LdJOh (Geum(lﬁ)
on élIzigl oo %

e X= ¥ R w@n \erpe N ol e Qe el

-l
P(x=¢) = @-1F =T

\[ou Swoue_ M Xee_ waum L) Mrq~

(x7 k)= 7}

Recan
EX) = Pz )+ 0x22) +Px23) + Tl Swn iy e
= p(x70)r Vx2d + - é?("’q

Tradl EQ usMQ ‘\*—\e Aall Hrw kg
IS é@

\ ¢ to vwoteS
see cypeud Y
Fatt Vv (<) = B2



TUIAVYS
Some ooke seline Ceow (P) on }DJ‘,Z;@ as
V= # Qwes ol g gens
es P(Y=4) =qqeef
P(x=5)
Y =%X-\
EY)=eR-t =571 = T =@
W (1) = N () @

Meworgless  Profe-t) of Ao Ceomeblc
Attt Lo
Deliton
X Geom(pd  t> wewrsdeas =
P(x >tk | x>0 =P lx>1)

“\.e_
TLe mewmorgless (Prcpev\i SQ\Q>
\C Qov Sont 37:-[— head N W 5 dossel



t= chguee You dowd- et &

beeeX ta oo s bs Y= Sene
0 +T_ OfendIUonal Puabalilipy 1ok g

Jok get & heads W T desten
4+}.

T(x 73*t)x73>: '\’(K?z"fg - 1/- teoy

P (x23) Z

s see append i Lor Jrovt

W\N\ A A&f‘fb &'\33“' \a\.‘*\“"\ X ﬁuwb
\Jt‘du-> 23~ 1S Nmm\ms N TR

is Gm(ﬂ Weee €= P(X“\B



ex Coujov Gletre publew
- Yoo Wane o oVecMor ok boxes eadw
&w&q\m\w\a_ Gujon, Nere @= WV St ey -
Gngors, Eath \ox > epudly Wely o ol
cumy (3o Snbepevback- ok ‘\"&&w\@kvs,
) = ¥ \oicex veebed o qer Al n A tevay o

@ n=2 X=X +X +Xg >
C
| N \ U )
Ky Xe e
),
ce %) (%)
/ //Qﬂb‘” //?c,f:""VL

Q)\w\wo\- > fhe bl ot Y\ ) Xz/ XS R
A dhew \nheweu&w\—?\\\ A

Dk b E(X) E(x‘-exﬁxg
= g(apetel
=L A r'\\-3 \*%*é)
% T2
3 2 S -

Eam——--—-




(4
o 3

Sely s n Coveoms $

s\
S Xz ™ boun(32)
Ko, = Eooxes % N oupon S0 X ‘“"‘Gr)

K= X, v X,, Swm @k\n&ﬂ) beom wisn A

B = B()) + B a1 f.
. El ).
o om0 EW)
AL S

LEM: “(""?—"i‘“*ﬂf

3 nia uN
t]w\b()- \’\K%.L L 4 Q\_‘>‘L* vt —\‘L_B




Prppendt x
FM:\- \)va(\ = "?i

To -CSV\& \le~ é(\ we weel  awn %&ev;—l.\tb :

1 = T\:“ct %ﬁbv@wk . Sew
Q F=
LIS & e N
Z¥ = o
¥=o
LN
C > =4 -&
F(Kﬂ)% = (\ ?’) ‘>
kz o
v (Xy = ECO)- o)
= ECS) B Y& - EQS)
=E(x=X) H?(x\ L—:@&
..L
D pt
ECx(e)) = s K(n—-)?(»q
[ l:-l
v
2 ()T = TP Zr- (L-Df_
k= I ko )
= 24 “L
3 b
+



PP end
Tie et f wwwu:‘lm_a b = Aisprets Ch¥al
S a e dMffvant, T Sus g fal X,
) z Q
Henn the clivas X223tk N Mo Sane o
e burcoue Hbog] -pvoLo.'L?ﬂt ol X2k

Debio
Yo Ceom(py 1> wewrsdess -

P(X >tk {X?D =Px>1r)

\ {
T A Reree CD.‘\\XS""\"V‘““"!) X -ht,‘v.b(
Valess 1,23 -0 1S mewogie N WAl T

s Ceow(F) Whee £= P(’X"-‘b‘

P%/ we Q\chO\‘j Aowed W clas
ek Geow (D Yo wWpnwmyle>>,
Nt o0 sou wed v X 's

wemorgless, WH Valves x=12% ...
Kz X b Geom(®) wove 9:?(x=0_
Tor pwmug Tm%eielg KJ&

Soppore. Pl zx9x53) =?(><?\:7
0

?(}( 2 \C{—Q\B
P (x23)




@> ?(K 2 K%Dc?b{7\b>%(x ?K)

T Jollows —C\rom -3(\,%5 Xirwg—
A .
Plxo= )t b §ELT

TN G b= Shoul L‘Q }n&\.cu%\

hWse Cene &c\ /
WS e v 3-)

Y(x - &w = ? Q<> 3 & 1.) ':Q(;?Q);}‘Q(m)
= ?(}Q“* — WbD
\B‘\' 0}/:(\7(7?78 .
few Y(x23) = f 2 XN(Q%W(l_?A
Weore $=\-1= P(x=y)

\
[

U



